where we used the fact that wTx = xTw.

$$\frac{5x^{3}}{W^{2}} = W^{2} + \frac{1}{A^{2}} = (A^{2} - y)^{2} (A^{2} - y)$$

$$= x^{2} A^{2} A^{2} + y^{2} y^{2} - 2y^{2} A^{2} A^{2}$$

First lef  $v = A^T y$  and consider  $\nabla_x v^T x$ . For arbitrary X:, we have  $\frac{\partial}{\partial x_i} v^T y = \frac{\partial}{\partial x_i} \sum_{i=1}^{N} v_i x_i = v_i$ .

Stacking all these gives

$$\nabla_{\mathbf{x}} \quad \mathbf{v}^{\mathsf{T}}_{\mathbf{x}} \stackrel{\sim}{=} \begin{bmatrix} \mathbf{v}_{i} \\ \mathbf{v}_{\mathbf{z}} \\ \vdots \\ \mathbf{v}_{\mathbf{N}} \end{bmatrix} \stackrel{=}{=} \mathbf{v}$$

and substitution gives  

$$\nabla_x y^T A_x = \nabla_x (A^T y)^T x = A^T y.$$

Differentiating with respect to x; we need to account for x: shown  
up in both sins, which gives  

$$\frac{\partial}{\partial x_{i}} \propto \pi B x = \frac{e^{i\theta}}{j^{i}} B_{ij} x_{j}^{i} + \frac{e^{i\theta}}{j^{i}} x_{j}^{i} B_{j}^{i}$$

$$= 2 \frac{e^{i\theta}}{j^{i}} B_{ij} x_{j}^{i} \qquad b_{j} \text{ symetry of } B_{ij}^{i} = B_{j}^{i}$$

$$= 2 B_{i,i} \times$$
Stocking all these, we get  

$$\nabla_{x} \propto \pi B x = \begin{pmatrix} B_{y}, x \\ B_{z}, x \\ \vdots \\ B_{x}, x \end{pmatrix} = B \times \quad \text{of action vector we highlicetion}$$

$$for P_{j} \cdot 1.24 \text{ of the notes}$$

$$P_{j} \text{ this all together we yet}$$

$$\nabla_{x} \propto \pi A^{T} A x = A^{T} A x \quad b_{j} \text{ substituty } A^{T} A = B.$$
Petty this all together we yet  

$$\nabla_{x} \propto \pi A^{T} A x + y^{T} y - 2y^{T} A x = 2A^{T} A x - 2A^{T} y.$$

Ex 4 For ATA to be investible, it must be full rank. Using the SVD, we have ATA - VETUTUEVT = UETEVT

where U is orthogonal, So rank  $(A^TA) = \operatorname{rank}(\Xi^T \Xi)$ . Note that  $\Xi \in \mathbb{R}^{N\times N}$  So  $\Xi^T \Xi \in \mathbb{R}^{N\times N}$  is the diagonal metrix of the form  $\begin{bmatrix} \nabla_1^2 & & \\ & \nabla_2^2 & \\ & & &$ 

Thus AA is the inter in the columns of A are linearly independent.

Ex 5 Full. Note that we use the fact that Whr=I.

 $\frac{F_{x}}{F_{z}}$ Recall we defined  $z = V_{x}^{T_{x}}$  and  $V_{is}$  orthogonal, so  $V'' = U_{z}^{T}$ . This gives  $\hat{x} = VV_{x}^{T} = Vz$ 

## Ex 8 The number of LI columns in A is Qim (N(A)). Note that R(A) e/RM which has vaxious dimension M. If NOM columns are LI, there world exist NSM columns in IRM that are LI, contradicting the definition of dimension of a vector space.

$$A = \bigcup_{m \times m} \sum_{m \times m}$$

If r=n, we jet

$$\begin{aligned} \overline{E_{\mathbf{x}}} &= \left( \mathcal{U}_{\mathbf{x}} \nabla \mathbf{v}^{\mathsf{T}} \right)^{\mathsf{T}} = \left( \mathcal{U}_{\mathbf{r}} \mathcal{E}_{\mathbf{r}} \mathcal{V}_{\mathbf{r}}^{\mathsf{T}} \right)^{\mathsf{T}} \\ &= \left( \mathcal{U}_{\mathbf{r}} \left( \mathcal{E}_{\mathbf{r}} \mathcal{V}_{\mathbf{r}}^{\mathsf{T}} \right) \right)^{\mathsf{T}} \\ &= \left( \mathcal{E}_{\mathbf{r}} \mathcal{V}_{\mathbf{r}}^{\mathsf{T}} \right)^{\mathsf{T}} \mathcal{U}_{\mathbf{r}}^{\mathsf{T}} \qquad \text{property (PI) since } \mathcal{U}_{\mathbf{r}} \text{ has orthonomal } \\ &= \mathcal{U}_{\mathbf{r}} \mathcal{E}_{\mathbf{r}}^{\mathsf{T}} \mathcal{U}_{\mathbf{r}}^{\mathsf{T}} \qquad \text{property (P2) since } \mathcal{V}_{\mathbf{r}}^{\mathsf{T}} \text{ has orthonomal rows } \\ &= \mathcal{U}_{\mathbf{r}} \mathcal{E}_{\mathbf{r}}^{\mathsf{T}} \mathcal{U}_{\mathbf{r}}^{\mathsf{T}} \qquad \text{since } \mathcal{E}_{\mathbf{r}} \text{ is userfible} \end{aligned}$$

$$\begin{array}{l}
\left[ \overline{\xi_{r}} & | \overline{\xi_{r}} & 0 \\ \overline{\xi_{r}} & 0 \\ 0 & 0 \end{array} \right] \\
\left[ \overline{\xi_{r}} & 0 \\ \overline{\xi_{r}} & 0 \\ 0 & 0 \end{array} \right] \left[ \overline{\xi_{r}} & 0 \\ 0 & 0 \\ 0 & 0 \end{array} \right] \left[ \overline{\xi_{r}} & 0 \\ 0 &$$

3) 
$$\Sigma^{+}\Sigma = \begin{bmatrix} \Sigma_{r} & 0 \\ 0 & 0 \end{bmatrix} \begin{bmatrix} \Sigma_{r} & 0 \\ 0 & 0 \end{bmatrix} = \begin{bmatrix} \Sigma_{r} & 0 \\ 0 & 0 \end{bmatrix}$$
 which is symmetric  
4)  $\Sigma\Sigma^{+} = \begin{bmatrix} \Sigma_{r} & 0 \\ 0 & 0 \end{bmatrix} \begin{bmatrix} \Sigma_{r} & 0 \\ 0 & 0 \end{bmatrix} = \begin{bmatrix} \Sigma_{r} & 0 \\ 0 & 0 \end{bmatrix}$  which is symmetric

Ex 15 Using the normal equations, the solution satisfies ATAX=ATD. but a. b & IR<sup>n</sup> So ATA = aTa & IR and ATD = aTD & IR as well. The Solution to then

$$\begin{array}{c} x = \frac{a^{T}b}{a^{T}a} = \frac{a^{T}b}{||a||^{2}} = \frac{||a|| \left(||b|| \cos \Theta \right)}{||a||^{2}} = \frac{||b||}{||a||} \cos \Theta \end{array}$$

Now the LS cost becomes  $\begin{aligned} \|a_{x}^{*}-b\|^{2} &= \left\| \frac{\|b\|}{\|a\|} \cos \theta = -b \right\|^{2} \\ &= \left( \frac{\|b\|}{\|a\|} \cos \theta = -b \right)^{T} \left( \frac{\|b\|}{\|a\|} \cos \theta = -b \right) \\ &= \frac{\|b\|^{2}}{\|a\|^{2}} \cos^{2} \theta = a^{T}a + b^{T}b - 2 \frac{\|b\|}{\|a\|} \cos \theta = b^{T}b \\ &= \frac{\|b\|^{2}}{\|a\|^{2}} \cos^{2} \theta + \|b\|^{2} - 2 \|b\|^{2} \cos^{2} \theta \\ &= \|b\|^{2} \left( (-\cos^{2} \theta) \right) \\ &= \|b\|^{2} \left( (-\cos^{2} \theta) \right) \end{aligned}$